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uksV& (Instructions) 

1. Attempt any three questions section A and Four questions section B. 

[k.M v ls fdUgha rhu rFkk [k.M c ls fdUgha pkj iz’uksa dk mRrj nhft;sA 

 

 [k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 

 

uksV %  fdUgha rhu iz'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

 Note:  All questions are compulsory. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 

  

 1. ¼d½ ;fn a, b, c vleku rFkk /kukRed gSa] rks n'kkZb, fd 
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  (a) If  a, b, c  are positive and unequal, then show that   
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             ¼c½ gy dhft, % x4  – 5x3 + 7x2  – 5x + 1 = 0. 

           (b) Solve : x4  – 5x3 + 7x2  – 5x + 1 = 0 

   

 2. ¼d½ fl) dhft, 

 x + y + 2z x y = 2 (x + y + z)3 

 z y + z  + 2x y 

 z x z + x + 2y 

 

 (a) Prove that  

 x + y + 2z x y = 2 (x + y + z)3 

 z y + z  + 2x y 

 z x z + x + 2y 



  

  

  ¼c½ ;fn lehdj.k x3  +  3px2  +  3qx  +  r  =  0 ds ewy gjkRed Js.kh esa gSa] rks fl) dhft, fd 

                  2q3 = r (3pq - r) . 

  (b) If the roots of the equation    x3  +  3px2  +  3qx  +  r  =  0 are is harmonic progression, 
the prove that 

                 2q3 = r (3pq - r). 

  

3. rFkk µ  ds fdu ekuksa ds fy, lehdj.kksa ds lewg dk 

x + y + z = 6 

x - 2y + 3z = 10 

x + 2y + 2z = µ 

     (i) dks gy ugha gSA 

        (ii) ,d vf)rh; gy gSA 

        (iii) vfHkfer gy gSA 

For what values of  and µ the system of equations has  

x + y + z = 6 

x - 2y + 3z = 10 

x + 2y + z = µ 

         (i) No solution. 

         (ii) A unique solution. 

        (iii) On infinite solutions. 

  

 

 

4 (a) lehdj.k Ú ς Ì Édks gy dhft;sA  

 Solve the equation Ú ς Ì É  

   (b) dkjMkuks fof/k ls f=?kkr lehdj.k ςὼ σὼ σὼ ρ π dks gy dhft;sA  

 Solve the cubic equation ςὼ σὼ σὼ ρ π by Cardano’s method. 

5 (a) lehdj.k ra= ds lHkh gy Kkr dhft;sA  

x – y + z = 0, -3x + y -4z = 0, 7x -3y -9z = 0 rFkk 4x – 2y – 5z = 0  

Find all the solutions of the system of equations   

x – y + z = 0, -3x + y -4z = 0, 7x -3y -9z = 0 and  4x – 2y – 5z = 0 

  (b) /kukRed okLrfod ὼȟώȟᾀ ds fy, ;fn ὼ ώ ᾀ ψρ gks rks fl) dhft, fd ὼ ώ ᾀ  ω    

 If ὼȟώȟᾀ such that ὼ ώ ᾀ ψρ, then Prove that ὼ ώ ᾀ  ω    

6 (a) prqZ?kkr lehdj.k ὼ ςὼ υὼ ρπὼ σ π dks gy dhft,A 

Solve the biquadratic equation ὼ ςὼ υὼ ρπὼ σ π 

(b)   ;fn n dksbZ /ku iw.kkZad la[;k gS rks fl) djsa  



Ѝσ É Ѝσ É ς #ÏÓ
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 If n is a positive integer then prove that  

Ѝσ É Ѝσ É ς #ÏÓ
Îʌ
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7- Øsej ds fu;e dh lgk;rk ls fuEufyf[kr lehdj.k gy dhft,A  

Solve with the help of Cramer’s rule the simultaneous equations,   

x+y+z = 3 

x+2y+3z= 4 

x+4y+9z = 6 

8- 60 yksxksa ds losZ{k.k esa ik;k x;k fd 25 yksx lekpkj i= H] 26 yksx lekpkj i= T] 26 yksx lekpkj i= I] 9 

yksx H rFkk I nksuksa] 11 yksx H rFkk T nksuksa] 8 yksx T rFkk I nksuks vkSj 3 yksx rhuksa lekpkj i= i<+rs gSa rks 

fuEufyf[kr Kkr dhft, fd de ls de ,d lekpkj i= i<+us okys dh la[;k fdruh gSA  

In a survey of 60 people, it was found that 25 people read Newspaper H, 26 read Newspaper T, 

26 read Newspaper I, 9 read both H & I, 11 read both H and T, 8 read both T and I, 3 read all 

these news paper.  Find number of people who read at least one of the newspaper.   

9- A rFkk B dk eku Kkr dhft,A ;fn  ὃ Ὥὄ 

     Find the values of A and B, if    ὃ Ὥὄ 

 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

vf/kdre vad% 12 

Maximum Marks: 12 

 

     uksV % fdUgha pkj iz'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

     Note:     Write any four questions. Answer should be given in 200 to 300 Words. 

1.Sin6 dks Cos ds inksa esa O;Dr dhft,A  

Express Sin6 in terms of multiple of Cos.  

   

2.;fn  ,   ,  lehdj.k x4 - 3x - 6 = 0 ds ewy gksa] rks 4 + 4 
 dk eku Kkr dhft,A  

If ,  are roots of the equation   x3 - 3x - 6 = 0   then find the value of 4 + 4. 

   



3.gy dhft, % 72x + 2.7 x - 15 = 0 

Solve : 72x + 2.7 x - 15 = 0  

   

4.fl) dhft, fd  A  B = A  B ;fn vkSj dsoy ;fn   A = B  

Prove that A  B = A  B if    A = B  

   

5.  dks (a + ib) :i esa O;Dr dhft,A  

Express  in the form a + ib.  

   

6.;fn n ,d /kukRed iw.kk±d la[;k gS] rks fl) dhft, fd 

 

If n is a +ve integer, then prove that 

 

7- fl) dhft, ρ ÃÏÓʃ É ÓÉÎʃ ρ ÃÏÓʃ É ÓÉÎʃ  ς ÃÏÓ ÃÏÓ   

Prove that  ρ ÃÏÓʃ É ÓÉÎʃ ρ ÃÏÓʃ É ÓÉÎʃ  ς ÃÏÓ ÃÏÓ  

8- fl) dhft, !  ᷾"᷊ # !᷾ "᷊ !᷾ #  

Prove that !᷾  "᷊ # !᷾ "᷊ !᷾ # 

9- ;fn ‌ȟ‍ lehdj.k σØ ςØ ρφ π ds ewy gkas rks ‌ ‍ dk eku Kkr djasaA 

If ‌ȟ‍ are roots έὪ σØ ςØ ρφ π then find the value of ‌ ‍  

10- lehdj.k ȿÚ υ φÉȿ τ ds fcUnqvksa ls fufeZr Z fcUnqiFk dks Kkr djsaA  

What is locus of the points Z represented by ȿÚ υ φÉȿ τ 

11- lfEeJ la[;k σ ЍσὭdk /kqzoh; #i Kkr dhft;sA  

Find the polor form of complex number  σ ЍσὭ 

12- fuEufyf[kr vlfedkvksa dks gy dhft,A ȿὼ ρȿ ίȠ ȿὼȿ ς   

Solve the following system of ineqvations.  ȿὼ ρȿ ίȠ ȿὼȿ ς 
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13-;fn w1, w2  bdkbZ ds ?kuewy gksa rks fl) dhft, (1+ 5w2 + w4) (1+5w+w2) (5+w+w2) = 64   

If w1, w2 are three cube roots of unity prove that (1+ 5w2 + w4) (1+5w+w2) (5+w+w2) = 64  

14- ;fn lehdj.k ax2 -3x +1 = 0 dk ,d ewy 2+i gks rks a dk eku Kkr dhft,A   

If equation ax2 -3x +1 = 0 has one root as 2+i then find the value of a.  

 


